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32 A tennis hall 1s Strwck uith Ockat- 
firing 1t Strolgnt LLpwad at 22mLs 

A ball is Hhrou Lupmarcd uithan initial 
ve locity Df 1mls trom top of 50m brridge 

O ith whai_velocity Lwil the ball strcike 
the qrLound 2 

b HO tonq does it take the bol to strrike 
the ground? 

A Stone is_danpped ecls in a iver 

from tho bnldge IE Hakes 5 s to tovch 
the Lwaler Surcface Calcuulate

the hetght bf the bridqe rLom wate LcuelL 
the distance CDorrod b4 Stone in th 
1ast_S econd 2 

A tennis ball is Strrwck wfth O_rLacKet
frring 1t Stoight upLwarnd at 22mis 
After hoL much timo will tt be fallinq 

3 

Qt 15 mis 2 



12ID?41awalocity Of ball BomLss 
Hoal_velod Dfball Cohen it ceachad the 
top= Omis. 

By i ca of_motion 
y-U = 20 s 

2- 29Xh 

O)-(o= 2k lo h 
100= h = Sm 

-20 

So it LuillCoven 5 m_lwithin otaining S 

max heignt_wben thuoon upOrd 

Distance Cauertcd bu ball_tdhen i comes down_ 

So t 5 5m 

loitol/ QLo cits whLN it Starts fo lin a douon_ 

Let Hnal velncltsuith whichit his ound-

Y 

B UD equaton DEf motion 
y2-U= 2as 
V-U= 2gh 

y 0= 2xLo X55 
y= 23(0x 5S N mls. 
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lherceor70 the ball hiis_0LDLLd with lov 

mis 

1n)1nitial volocitp 0f ball mhen thrrOLOn pLwacds 

= loms 

Enal vetocituat attaining mauimum height = 0 

By 0_eqn of Motion 

EV0t at 
= V= 0-Qt 

te 1s 
ime token to reach maimum hoight 7S LS 

Initol velocty when tho ball 8torzded faling 

O mis 

fna velocity win_twhich the bau hitS 

grround 10J mls 

By O e Df moflon 

EV 0t Qítt 

t= Ts 
the ball fleached qrrOund 2n l s 

Hence ne bodu takes (4TDS to reach 

the groLund faom Siortin 
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2illnitial velar2tss Df tho Stone=Omis 

fimetokento tovch riuez 5 

Bu con pf _motion 

S= Ot t lat? 
2 

2 

S 0 01 XOK 25 

=5x 25 25 m. 

its Distonee Cov rted by Stone in Fast Second 

dfstonce Coverd by_ bods tone în 4h see 

So distonce caverrod hy body n4th sAc 

S Ut0(On-) 
2 

+ 214)-1 

2 

=51 35 m. 

Hence th bodu cov emed 25 m in 4h /Serst s 
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3 JInialL velocit D ball=22 mls 

Einalvelocitr Ofball= Omls 

Erom0 equation of motion 

VE Ot 0t- 

y t 
O 22-10t 

-22 10 
t= .2s 

NoL the intial pelo cits Lohen t StQrded 

Lomin dDLn =Omls 

iven inalvelodtu 15 Mis 

By eQuationof mation 

15 O + 10tE 
t= 15s 

Tharrcl.otra thetime afferr which it willbo 

follin ot S mis fs 

5t 22-3.2 

Hence he balL uillbe folEn g nt 15 mls 
Qfterr 3,1s 


